CURRIKI ALGEBRA UNIT 4
Expressions and Equations – 

Lesson 4.5 Solve Systems of Equations

Homework Answer Key

Calculator Lesson Homework Worksheet

1. Graph the following equation on your calculator:

y = 12x + 24
Describe what settings you used for the window in order to get a view that looked appropriate and gave you all the important information:

Window set to y-max = 25; Ysc = 1

2. Graph the following equation on your calculator:

3y – 5x = 12

Describe what you had to do to the equation algebraically before you could graph it into your calculator.  (Hint:  what form must an equation be in before the calculator will graph it?)


You have to write equation in y=mx + b form; equation equals y = 5/3 x + 4

3. Graph the following system of equations on your calculator.  Then use the “intersect” functionality in the “CALC” menu to find the x- and y- values at the point of intersection:

y = 32x - 175.3

y = -12x + 80.2

a. Describe the settings you used for the window in order to be able to see these graphs.

To see these graphs set Ymax = 10; Ymin = -200 and Xmax = 50, Xmin = -50 to see the x- and y-intercepts.

To view the intersection set Ymax = 15, Ymin = 0 and Xmax = 10 and Xmin = 0.

b. Give the x- and y- values for the intersection:

x = 5.8 y = 10.5

c. See if you can find the “Z-Box”  (zoom box) and get a better view of the actual intersection.

4. Why does it matter so much what values you put into the “window” screen?  Do the changing scale values change the equation?  Why do they change the graph so much?

When solving a system of linear equations, the solution is the point of intersection.  The window must be set to view the intersection point.

Changing the scale value does not change the equation; just changes the size of the equation in the window.

